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Haryana Staff Selection Commission

Notations:
1.Options showr in green color and with W iron are correct.

2 Options shown in red color and with # icon are incorrect.

Subject Name: CAT 3 Steno Typist English and Hindi CET Exam
Total Marks: 200

Display Marks: Yes

Calculator: None

Magnifying Glass Required?: No

Ruler Required?: No

Eraser Required?: No

Scratch Pad Required?: No

Rough Sketch/Notepad Required?: No

Protractor Required?: No

CAT 2 Steno Typist English and Hindi CET Exarn
Group Marks: 200

CAT 2 5teno Typist English and Hindi CET Exam

Section Marks: 200
Display Number Panel: Yes
Group All Questions: No

Question Number : 1 Question Id : 627289501 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who among the following was the successor of Toramana?

Options:
, % Mangalesha
> % Mehama

- » Khinjilal

4 « Mihirkula

Question Number : 1 Question Id : 627289501 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:

1 ® EFE?I?{%TI'

z.ﬁm
z ® ﬁﬁ?’ﬂ-l

IEIEECE

4. 2

Question Number : 2 Question Id : 627289502 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘Which of the following ruler was also known by the name Shiladitya?
Options:

, % Adityavardhana
> « Harshavardhana

= % Prabhakaravardhana

, % Rajyavardhana I

Question Number : 2 Question Id : 627289502 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TafefRa 7 ¥ 9 °@r aas el & a7 ¥ & =7 Far 872

Options:

| » HifeeTads
2 v TR

5 % THTERTUA
4 % T=gaae |

Question Number : 3 Question Id : 627289503 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following feudatory of the Pratiharas built a Vishnu Temple at Prithudaka?

Options:
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| Gogga
- % Jaula
- w Jajjuka

4 % Vvajrata

Question Number : 3 Question Id : 627289503 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e # @ sfoert & e SrefRer o qyger & fasy Afex & aor s ar
Options:

o B Gﬁ?vl’

G e
T #® ]

4_3333(_'[

Question Number : 4 Question Id : 627289504 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Tomara rule in the area which is today called Haryana was finally put to an end by which of the following
dynasties?

Options:
1 +« Chahamanas

- % Kalachuri
=z % Lohara

4 % Paramara

Question Number : 4 Question Id : 627289504 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ma%-arfr,ﬁmmgﬁwmwm%,mammaiﬁ%ﬁmr#mmgmm

Options:

1v"’m
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Question Number : 5 Question Id : 627289505 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

As per the Economic Survey of Haryana (2016-17), Harvana has become the highest contributor of food-
grains to the central pool.

Options:

> % 31

Question Number : 5 Question Id : 627289505 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

RO F 2016-17 & Hleuawar Wi0T F HJUR ERA0 FRT 97 & o Y F97 AT
raTe 74|

Options:

1_\?{&11
g_ﬁm
S_Qﬁaﬂl

4 ® GT=ET

Question Number : 6 Question Id : 627289506 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The first ever International Gita Mahotsav held in Haryana was inaugurated by:
Options:

, = Captain Abhimanyu
> % Kaptan Singh Solanki
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5  Pranab Mukherjee

, % Narendra Singh Tomar

Question Number : 6 Question Id : 627289506 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ZREoT F ggel ax yfeE FsET e AEeHT FT 3cueS e R ar?

Options:

1 ® r.:l

. % e THE Hiewh!

QU HESI
4 3

, % Teg T8 dFY

Question Number : 7 Question Id : 627289507 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The first ever Digi Dhan Mela was held in which district of Haryana?
Options:
1 % Karnal

5 o Gurugram
= % Kurukshetra

4 % Faridabad

Question Number : 7 Question Id : 627289507 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AT & e UsT # gger 9R 3 a9 &9 yatea O g
Options:

1_&%?1?{
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4 % TUCTEE

Question Number : 8 Question Id : 627289508 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

After the addition of a new district recently, Haryana now has districts.

Options:
1 ® 15

o W 10

A
®
[ ]
Lh

Question Number : 8 Question Id : 627289508 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2T & H UF a7 O g9 & 9, gROT F 39 foror g 71T 3

Options:

1 ® 15
o B 10
T ¥ 25

4 v 22

Question Number : 9 Question Id : 627289509 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who is the author/authoress of “The Other Side of Silence: Voices from the Partition of India™?

Options:
1 % Z.A. Suleri

- « Urvashi Butalia
=z % Vinod Mehra Bechain

4 % Sunita Jain

Question Number : 9 Question Id : 627289509 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

"Z ST WSS HT TS JISUY WH ¢ Tl 36 =3I & a@w/Af@dr Fia 872
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Options:

T, T. T
1" 2

3Ferefr serferaT
2 o 2

AT S
4 ® 2

Question Number : 10 Question Id : 627289510 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who is the author/authoress of “Anything For You. Ma’am™?
Options:
1 % Viren Sanwadia

> % Swadesh Deepak
= % Sunita Jain

4 « Tushar Raheja

Question Number : 10 Question Id : 627289510 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T BT g, 3 F A FE 2
Options:

1 ® WP?EI'I%EFT
> » T 9w

, gear o
3 o

TR ST

4.9 3

Question Number : 11 Question Id : 627289511 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The popular play “‘Court Martial® has been authored by:
Options:
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. Swadesh Deepak
- % Shrikrishna Gotan Manjar

- % Satpal Snehi

, % PreetiSingh

Question Number : 11 Question Id : 627289511 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gfig AeF FIT AT F OTF &

Options:

1 TEeeT a9

i SFHSoT FAH FHAT
- » TA9Te TR

4 % i e

Question Number : 12 Question Id : 627289512 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following river flows along the eastern boundary of Haryana?
Options:

, w Ghaggar

- % Markanda

=« Yamuna

4 % Tangri

Question Number : 12 Question Id : 627289512 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ghamor Fr & @ | FF & 74 w5 2

Options:
1, % EI
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Question Number : 13 Question Id : 627289513 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

As per India State of Forest Report, FSI. 2013 the tree cover in the state of Haryana is .

Options:
, % 1062 sqkm

5 1282 sqkm
5 % 1450sqkm

4 # 1578 sqkm

Question Number : 13 Question Id : 627289513 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

sfear w3 wREe R, Th.ow.amg, 2013 & HgER gRA0T =7 # ge § R gan T e
oraar 87

Options:

. % 1062 T &
> 1282 T faar
5 % 1450 F9T fRar

4 % 1578 TaT &

Question Number : 14 Question Id : 627289514 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Where is the Sultanpur National Park situated?
Options:
1 % Karnal

5 % Yamunanagar
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- #% Faridabad

4 Gurugram

Question Number : 14 Question Id : 627289514 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e TSET 32T F8 W 20T 27

Options:
1. % ohldTel

EIQIE;FITFE?FT

5 % TS

. IEATH
4¢3

Question Number : 15 Question Id : 627289515 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Haryana became a state of India on:

Options:
1 % December 3, 1962

>  November 1. 1966
5 & July 15, 1967

4 % November 19, 1968

Question Number : 15 Question Id : 627289515 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AT 9T T U U= 3F F s 9
Options:

| w3 fgEFT, 1962

. » 1 FEFT, 1966

.« 15 FFTS, 1967
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. % 19 FIFER, 1968

Question Number : 16 Question Id : 627289516 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Haryana came into being as the state of India.

Options:

;% 14B

> % 150

s % 160

4 @ 20®

Question Number : 16 Question Id : 627289516 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gRaoT 9T & =T & & H Aeaca # 31|

Options:

L ow 149

> % 153
- » 16

4 v 209

Question Number : 17 Question Id : 627289517 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The boundary between Punjab and Haryana was demarcated by which commission?
Options:

1 % M. M. Punchhi Commission

- % Sarkaria Commission

= « J. C. Shah Commission

4 % Malimath Commission

Question Number : 17 Question Id : 627289517 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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oaE AR R & Few @@ Bw e ganr Fuia & e oA
Options:

1 ®

5 % TLHIAT HTIET
5 . HI. Mg HEET

4 ®% HTHATY TAET

Question Number : 18 Question Id : 627289518 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who is the present Governor of Haryana?

Options:
, « Kaptan Singh Solanki

-~ % Jagannath Pahadia

= # Kiran Bedi

4 % Ved Marwah

Question Number : 18 Question Id : 627289518 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

NI % IIAT TS HiA 22

Options:

| Fea &g et

. w STETeATY 9@IEAT
5 % [YOT Far

Question Number : 19 Question Id : 627289519 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following wildlife sanctuary is NOT in Haryana?

Options:
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. « Nagzira
- % Chhilchila
= % Khol-Hi-Raitan

4 % Nahar

Question Number : 19 Question Id : 627289519 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TaRT & ¥ FiF @ Teusa Ry oo F a8
Options:

v TR
o B WRT
L GE-g-as

4 % oNEl

Question Number : 20 Question Id : 627289520 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Aravalli ranges in Haryana have been designated as in accordance with Sub-Regional Plan for
Haryana Sub-Region of NCR-2021.

Options:
1 + Natural conservation zone

5 % Water recharge zone

- = Agro-ecological region

4 % Pollution-free zone

Question Number : 20 Question Id : 627289520 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TAHHR-2021 3 FRATOT 39-87F & 39-8 67 Aol % HJAR AT H 3RTEe TaaaATar
F T H FifET B g

Options:

1&9%31'%?&%?
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Question Number : 21 Question Id : 627289521 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In October 2016, Haryana Government decided to divide all cities and towns in the state into clusters for
efficient solid waste management.

Options:
1. 15

o W 10

s
®
[ ]
Lh

Question Number : 21 Question Id : 627289521 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FFcat 2016 H, FNAVT FER o T 3F F3 a7 % v 77 & @l oag? #R Fwar &+
gl & Renfea wa & o R

Options:
o> R 10
=z ® 20‘

4 8 25

Question Number : 22 Question Id : 627289522 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The National Cactus and Succulent Botanical Garden and Research Centre is located in:
Options:
1 % Thanesar

- % Pehowa
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- % Bilaspur

4 « Panchkula

Question Number : 22 Question Id : 627289522 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AAAT FFCH AR FFole aIeiwemer e HR THa FeX a1 W e g2

Options:

1_&:%
g_ﬁﬁﬁ‘_:rr

Question Number : 23 Question Id : 627289523 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Birla Mandir at Thanesar in Kurukshetra is mainly constructed in:

Options:
1 % Blue Marble

> % Green marble
= « White marble

4 % Brown marble

Question Number : 23 Question Id : 627289523 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FIIT F UET A Pue Rsar Aty # AT gEme: B e & G o 2
Options:

. % B FIAH

. v THEG TA
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Question Number : 24 Question Id : 627289524 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Chaitra Chaudas Mela is held in Pehowa in:
Options:
, w» June-July

o  March-April
z % November-December

4 % August-September

Question Number : 24 Question Id : 627289524 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

9gET F 39 =iy Ao w9 Mg & Jar 22

Options:

wahﬂ-ag

1

- o Iﬂé—-m

5 x ASFE-TGHFE

4 % HE-FATER

Question Number : 25 Question Id : 627289525 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Sthaneshawar Mahadev Mandir is situated in:
Options:
1 # Manesar

-~ % Bilaspur
3 « Thanesar

4 % Pindara

Question Number : 25 Question Id : 627289525 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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TUTH9EY Agled HAfeT &gl o Tug &2

Options:

1_$3m

Question Number : 26 Question Id : 627289526 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many consonants are there in Pitman Shorthand?

Options:
1 ® 23

o W 24

Question Number : 26 Question Id : 627289526 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many consonants are there in Pitman Shorthand?

Options:
1 ® 23

o W 24

Question Number : 27 Question Id : 627289527 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many vowels are there in Pitman Shorthand?

Options:
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1. 12
o W 13
T W 14

g w 15
Question Number : 27 Question Id : 627289527 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
How many vowels are there in Pitman Shorthand?

Options:
1. ¢ 12

o W 13
= W 14

g *® 15
Question Number : 28 Question Id : 627289528 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
How many types of ‘H’ are represented in Shorthand?

Options:
1 #® 3

> o 4

4.
Question Number : 28 Question Id : 627289528 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
How many types of ‘H’ are represented in Shorthand?

Options:
1 #® 3

> o 4

®
LA
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Question Number : 29 Question Id : 627289529 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How are shun hooks written to curves?
Options:
1 « Inside

- % Outside
5 & Upwards

4 % Downwards

Question Number : 29 Question Id : 627289529 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How are shun hooks written to curves?
Options:
1 « Inside

> % Outside

- & Upwards

4 % Downwards

Question Number : 30 Question Id : 627289530 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When ‘ns’ and *nz’ occur medially letters must be shown as in words density and rancid (in final hooks).

Options:
1 « Both

> % Single
z % Circle

4 % Loop

Question Number : 30 Question Id : 627289530 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When ‘ns’ and *nz’ occur medially letters must be shown as in words density and rancid (in final hooks).
Options:
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1 « Both

- w Single

3 % Circle

4 % Loop

Question Number : 31 Question Id : 627289531 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When “skr’ occurs after p or b, the hook may be
Options:
1 % Written

> « omitted
= % shown

4 % expressed

Question Number : 31 Question Id : 627289531 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When ‘skr’ occurs after p or b, the hook may be
Options:
1 % Written

> o omitted
z % shown

4 % expressed

Question Number : 32 Question Id : 627289532 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The stroke ‘1* standing alone or with only a final circle attached is doubled for which of the following set of letters?
Options:
1 ® ture

o B thr
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3 % dr

4 ¢ tr

Question Number : 32 Question Id : 627289532 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The stroke ‘1’ standing alone or with only a final circle attached is doubled for which of the following set of letters?
Options:
1 ® ture

o R thr
3z % dr

4@t

Question Number : 33 Question Id : 627289533 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the correct outline for situation.
Options:

1 B

Question Number : 33 Question Id : 627289533 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the correct outline for situation.
Options:

1 %
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Question Number : 34 Question Id : 627289534 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the option that represents the below sentence in shorthand.
I have pleasure in taking part in this seminar on family welfare

Options:

o R
TR el PR LR BV ET
= 5
o R
" | IU‘L plE T i Y
L9 T o S 8
4 %

Question Number : 34 Question Id : 627289534 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Select the option that represents the below sentence in shorthand.
I have pleasure in taking part in this seminar on family welfare

Options:

I Ml (O S ! =LA

1. v

A i ¥ e A
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W = ﬁll"' 1= .ll\ffp cL

Question Number : 35 Question Id : 627289535 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the option that represents the below sentence in shorthand.
We shall be glad if vou will look into the matter.

Options:
) = .t
o y
g
Ll
< Uy - e
.

e %

Question Number : 35 Question Id : 627289535 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the option that represents the below sentence in shorthand.
We shall be glad if you will look into the matter.

Options:
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4 : 1
o B
.r.a-"é_ ‘\.h-i{ r.» = . L o
3 v
J . e L
. ‘3_ t__ ¥ 4 "‘w[ e S—
4 ®

Question Number : 36 Question Id : 627289536 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘T A ) FT SEI IFT TATT:

0. 2

Options:

1_%A
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Question Number : 36 Question Id : 627289536 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

)

‘T =T & gHT T TATT:

A. (

g, it

Options:

I_RA

2_%5

3_%':

Question Number : 37 Question Id : 627289537 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e e —te qga |
Options:
1 #® IHEAT

o o 3'83-?!'
T 3'«FEﬁ'I'
4 & 3'»9'&7
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Question Number : 37 Question Id : 627289537 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g R ——=— = qE=T |
Options:
1 #® IHPT

o o m
z ® 3'»FET=ﬁT
4 B 3'8735

Question Number : 38 Question Id : 627289538 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

% ST Tha #T HY & AT WE FEAT A
Options:

. » B fea

Question Number : 38 Question Id : 627289538 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

<. SH Wehd F HY & aTell Hel aTeFaATer I

Options:

. » B e
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Question Number : 39 Question Id : 627289539 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

foar & 379 & e, TN, Tk I A FAT HAT AET?

Options:

| ® % AT F %‘-"Aﬁl chail =HlIgW

, % @ TS HI AT HTAT AMET

sl ¥ T e dmr TR

o ®

L v F 8 R e Fe, @ e o

Question Number : 39 Question Id : 627289539 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f3ar & 379 & Fer, TN, Th I & FAT FHIAT AET?
Options:

& =T FT AT AT MY

1 %
, % @ TS HI AT HTAT AMET

sl ¥ T e dmr TR

o ®

L v F 8 R e Fe, @ e o

Question Number : 40 Question Id : 627289540 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T gF F FEAATS F FALN FAT TG
Options:

% T T A AT A W

. % o B TSR GA W

Lo T H AR AT W

L x TR BT R AR
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Question Number : 40 Question Id : 627289540 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T g F SEIA FA AL FIA AET?

| % T TR A AT B W
. % o B TSR GA W
Lo T H AR AT W

L% TR BET R A R

Question Number : 41 Question Id : 627289541 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ofeg H HIURUT U1 Y@ H G H{a & HJAN ‘AN H forw caaiar &t a1 fFar Jmar 22

Options:
1 & H

> H
3_23(:'-

4 %

Question Number : 41 Question Id : 627289541 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ofeg H WIYRUT S=iel YW FF AT 4 & AR FAGT # 5w =aa 1 =37 fear s 2

Options:
1 ® H

o> H
3.23(:'.

4 % T

Question Number : 42 Question Id : 627289542 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

WIINUT ST 1 3 e & HJAR IR oeg # 50 g & 3mar &7 3o =fge?

Options:
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> 1

4.W?|-

Question Number : 42 Question Id : 627289542 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

WIINUT ST 1 3 e & HJAR IR oeg # 50 g & 3mar &7 3o =fge?

Options:
1 # g

>« 3
S_WH

4.W?|-

Question Number : 43 Question Id : 627289543 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
V(/V{
' y

quT fRuAEER erearer T (@Te-faare) & gE IwT H TgE:

B. -
.
R ——
"

D C/y‘
Options:
1 ® A
o W B
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Question Number : 43 Question Id : 627289543 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
. '

qur feAeaR eregrer T (FTE-ForaTe) F TEY 9T H Ugn:

A. -—-—-_r_f:_f“r'

Options:

1.WA

E_WB

Question Number : 44 Question Id : 627289544 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fewdr e & T == & Fea ¥ F47 §794d1 87
Options:

1_%"-5—

2_%3
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av %

Question Number : 44 Question Id : 627289544 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Ty R F T U9 T FeA ¥ F TA44T 27
Options:
1_$3§

2_%3

S_QE

RV

Question Number : 45 Question Id : 627289545 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

q\u‘rﬁma:qwamhr o«/ﬁ T TEr fgeer FI=aT Ia17|

Options:
LY
1 cdgld hi odl | %E’

o % SHIER FA TIET

. % IR FIJ @ TET

, » CTUEER &Y AT TEd 8

Question Number : 45 Question Id : 627289545 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

9T fRATEER areTer *A/ﬁ FT Tar B! F=aT Fa10|

Options:
Y
1 ¥ cgdgll hi &dl o %Q

. % CUIER &L =T

. » SHIER A @ =@Mf@T
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, % THIER FT AT AR &

Question Number : 46 Question Id : 627289546 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Select vour answer fiom the options given:

Polar experts expect _trillion-tonne block to essentially bump along the shelf edge until it reaches  eastward
movement of ocean water known as __ Antarctic Circumpolar Current.

Options:
, « the, the. the

5 % the, an. an
5 % the, the, an

4 % 8 the, the

Question Number : 46 Question Id : 627289546 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Select vour answer firom the options given:

Polar experts expect __frillion-tonne block to essentially bump along the shelf edge until it reaches  eastward
movement of ocean water known as _ Antarctic Circumpolar Current.

Options:

1w the, the, the

5 % the, an. an
5 % the. the, an

4 % 8 the, the

Question Number : 47 Question Id : 627289547 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Select your answer from the options given:

Conservationists hope  sound of storm petrels
Shiant Islands is working.

churring" is __ indication that an effort to eradicate rats on

Options:
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| % & an, the
o o the, an, the
5 % the, a. an

4 8 a. a. the

Question Number : 47 Question Id : 627289547 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Select your answer from the options given:

Conservationists hope  sound of storm petrels' "churring" is  indication that an effort to eradicate rats on
Shiant Islands is working.

Options:
| % 8 an, the

o of the, an, the
5 % the, a. an

4 % 8.8 the

Question Number : 48 Question Id : 627289548 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blank in the sentence below with a suitable modal verb. Select your answer from the options given:

In 2003, researchers analyzing archived satellite images found that milky seas be seen from space and that one
satellite had captured images of a huge area of ocean that had displayed the strange glow for three consecutive nights a
decade earlier.

Options:
1 « could

> % would
% % should

4 % may

Question Number : 48 Question Id : 627289548 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Fill in the blank in the sentence below with a suitable modal verb. Select your answer from the options given:

In 2005, researchers analyzing archived satellite images found that milky seas be seen from space and that one
satellite had captured images of a huge area of ocean that had displayed the strange glow for three consecutive nights a
decade earlier.

Options:
1 « could

> % would
=z % should

4, O

Question Number : 49 Question Id : 627289549 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Read the sentence given below and fill in the blank with a collective noun, select vour answer from the options given
below.

A of cats was busy in fighting over a heap of fishbones.
Options:
1 % bloat

> % knot
- #% tower

4 « clowder

Question Number : 49 Question Id : 627289549 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Read the sentence given below and fill in the blank with a collective noun, select vour answer from the options given
below.

A of cats was busy in fighting over a heap of fishbones.
Options:

1 % bloat

> % knot

= % tower

4 « clowder
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Question Number : 50 Question Id : 627289550 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The passage below has been given in four parts as options. One of the parts contains an ervor. Select the option that has
the ervor:

Options:

. w» The bones and teeth of the reptiles

>  Suggest they spent most of there time on land.
- % though close to freshwater, feeding on tough plants

4 % such as ferns and conifers.

Question Number : 50 Question Id : 627289550 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The passage below has been given in four parts as options. One of the parts contains an ervor. Select the option that has
the error:

Options:

, w» The bones and teeth of the reptiles

o o Suggest they spent most of there time on land.

- w though close to freshwater, feeding on tough plants

4 % such as ferns and conifers.

Question Number : 51 Question Id : 627289551 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below choose the one that has the correct spelling of the highlighted word:
Options:

i ®

Plant-eating dinosaurs had more complex diets than we assumed that they had. and these diets included feeding on some
animals, including at least crustaceians, and this was more like diets of modern plant-eating birds.

2.
Plant-eating dinosaurs had more complex diets than we assumed that they had. and these diets included feeding on some
animals, including at least crutsaceans, and this was more like diets of modern plant-eating birds.

5.
Plant-eating dinosaurs had mote complex diets than we assumed that they had. and these diets included feeding on some
animals, including at least crustaceans, and this was more like diets of modern plant-eating birds.

4 %

Plant-eating dinosaurs had more complex diets than we assumed that they had. and these diets included feeding on some
animals, including at least curstaceans, and this was more like diets of modern plant-eating birds.
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Question Number : 51 Question Id : 627289551 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below choose the one that has the correct spelling of the highlighted word:
Options:

i »

Plant-eating dinosaurs had motre complex diets than we assumed that they had. and these diets included feeding on some
animals, including at least crustaceians, and this was more like diets of modern plant-eating birds.

o R
Plant-eating dinosaurs had more complex diets than we assumed that they had. and these diets included feeding on some
animals, including at least crutsaceans, and this was more like diets of modern plant-eating birds.

o
Plant-eating dinosaurs had mote complex diets than we assumed that they had. and these diets included feeding on some
animals. including at least erustaceans, and this was more like diets of modern plant-eating birds.

4 B
Plant-eating dinosaurs had more complex diets than we assumed that they had. and these diets included feeding on some
animals, including at least curstaceans, and this was more like diets of modern plant-eating birds.

Question Number : 52 Question Id : 627289552 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the option that offers the correct synonyvm of the highlighted word in the sentence given below. Pay attention to
the meaning of the highlighted word in the context of the sentence:

Nowadays, Indian comics remain fairly alien to children who, unsurprisingly, exchange Harry Potter trivia like
greetings.

Options:
1 « unknown

- % hidden
3 % relevant

, w foreigner

Question Number : 52 Question Id : 627289552 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the option that offers the correct synonvm of the highlighted word in the sentence given below. Pay attention to
the meaning of the highlighted word in the context of the sentence:

Nowadays, Indian comics remain fairly alien to children who, unsurprisingly, exchange Harry Potter trivia like
greetings.

Options:
1 + unknown
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> % hidden
3z % relevant

, » foreigner

Question Number : 53 Question Id : 627289553 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the option that offers the correct synonym of the highlighted word in the sentence given below. Pay attention to
the meaning of the highlighted word in the context af the sentence:

The secretive communist state said that its sixth nuclear test was a "perfect success", hours after seismologists had
detected an earth tremor.

Options:

. % transparent

- w Cryptic
3 ¢ communicative

, % inprivate

Question Number : 53 Question Id : 627289553 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the option that offers the correct synonym of the highlighted word in the sentence given below. Pay attention to
the meaning of the highlighted word in the context of the sentence:

The secretive communist state said that its sixth nuclear test was a "perfect success", hours after seismologists had
detected an earth tremor.

Options:

| % transparent

> % Cryptic
3 « communicative

, % inprivate

Question Number : 54 Question Id : 627289554 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select from the options given below the one that employs an appropriate tag question:

I'm the shortest,
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Options:
1 & aren’t1?

> % am]I?
3 % isn’tI?

4 % amnotI?

Question Number : 54 Question Id : 627289554 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select from the options given below the one that employs an appropriate tag question:

I'm the shortest,

Options:
1 & aren’t1?

> % am]I?
3 % isn’tI?

4 % amnotI?

Question Number : 55 Question Id : 627289555 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below select the one that has the prepositions placed correctly to form a proper sentence:
Options:

1 ®

Indonesia has issued its highest level alert from a volcano on Bali, warning that an eruption on the popular tourist island
could be imminent.

2N
Indonesia has issued its highest level alert for a volcano in Bali. warning that an eruption between the popular tourist
island could be imminent.

=
Indonesia has issued its highest level alert from a volcano onto Bali, warning that an eruption on the popular tourist
island could be imminent.

4. ¢
Indonesia has issued its highest level alert for a volcano on Bali, warning that an eruption on the popular tourist island
could be imminent.

Question Number : 55 Question Id : 627289555 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below select the one that has the prepositions placed correctly to form a proper sentence:
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Options:

1 ®

Indonesia has issued its highest level alert from a volcano on Bali, warning that an eruption on the popular tourist island
could be imminent.

o B
Indonesia has issued its highest level alert for a volcano in Bali, warning that an eruption between the popular tourist
island could be imminent.

z ®
Indonesia has issued its highest level alert from a volcano onto Bali, warning that an eruption on the popular tourist
island could be imminent.

4
Indonesia has issued its highest level alert for a volcano on Bali, warning that an eruption on the popular tourist island
could be imminent.

Question Number : 56 Question Id : 627289556 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘TEF g ¥ FiA-ar Iy E?
Options:

10"@@

aoT Hier

- ® 2

= R ME+E

4 B fré-:ﬂﬁ-

Question Number : 56 Question Id : 627289556 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

“Teg T ¥ Fi=-ur iy §7
Options:

14“@@
IToT gfer

- ® 2

2
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Question Number : 57 Question Id : 627289557 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Tor-fger & FiF-ar A 27
Options:

| % e

Question Number : 57 Question Id : 627289557 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Ter-fager # iF-ur gAw 7
Options:

| % Headrerd

Question Number : 58 Question Id : 627289558 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gfafes g amer & ©T e a=g e
Options:

1 ® ﬁﬁl?h_\"

o W gﬁﬁ?.

S.v"&ﬁﬁ
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4-@3%‘310‘_&'[

Question Number : 58 Question Id : 627289558 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

giafes gl Jrer & foIT TF oeg g

Options:

v i
4 % Teaed

Question Number : 59 Question Id : 627289559 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘FTSeT T JATIST=T Tl &
Options:
o ® FeIg

3 % STeleld

4 % THE

Question Number : 59 Question Id : 627289559 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘FTeer T JATIST=T T8l &
Options:
o w el

=z ® S oTel

4 ® EEICH
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Question Number : 60 Question Id : 627289560 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘3reTel’ 9T T Taelld &am 2

Options:
1, % 3T<lel

o % d[He]
E_JW

4.%“%

Question Number : 60 Question Id : 627289560 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘H=TeT 9EE T TaeH BT &

Options:
1, ® 3

o> % d[Hed
S_Jaﬁ

4.““%

Question Number : 61 Question Id : 627289561 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FIA-T U P T UL 87

Options:

1w ferdraToT
o % SIEOT
5 % forere
s v Trfor

Question Number : 61 Question Id : 627289561 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FIA-T U P T UL 87

Options:
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Question Number : 62 Question Id : 627289562 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FIA-TT e TTH &2

Options:
1 ® HYT

s 5 T

R El
2o 2

4 % B

Question Number : 62 Question Id : 627289562 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FIT-TT e TEH &7

Options:
1 ® HY

s x T

0
2w 2

4 % B

Question Number : 63 Question Id : 627289563 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

GO Fehe FAT & [T HEEW Brell &
Options:
| o % #ig TeET
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o » @ & 7RG B

5 % 9ETST 3T

, % T W AFET T 43A T

Question Number : 63 Question Id : 627289563 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

GO Fohe AT F [T HE=T g ¢

Options:
| v T &g FgE

o » @ & 7RG B

5 % 9ETST 3T

, % T W AFET T 43A T

Question Number : 64 Question Id : 627289564 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fafafla & @ Fia-ar g 959 &2

Options:

1, % TaH

T

2_3.3 ™,

S.J%‘H

4_%3313?

Question Number : 64 Question Id : 627289564 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T & ¥ Fia-ur wee 957 &2

Options:

1, % TaH

T

2_3.3 ™,
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S.ﬁ?a?‘f

4.3331?1'?

Question Number : 65 Question Id : 627289565 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘T A H HY AeT ¢
Options:

1 ® W
o ® ET&T
z ® é?ﬂ-

Question Number : 65 Question Id : 627289565 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘T A H HY AeT ¢
Options:

1 ® W
o R Brrgr
z ® é?ﬂ-

Question Number : 66 Question Id : 627289566 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two numbers are in ratio 3 : 5 and their HCF is 20. Their LCM is:
Options:
1 % 30

o> « 300

T W 60

CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 1



CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 1

E 10

Question Number : 66 Question Id : 627289566 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ar &3 & 3eIATd 3 : 5 T 3T HgcdH TATSAF 20 &1 3R oTE]cclH AT &

Options:

1 ® 30
. v 300
=z B 60

g # 10

Question Number : 67 Question Id : 627289567 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The average age a couple married in the year 2000 was 23 vears. After 5 years, the average age of the couple along with
their kid was 20 vears. The current age of the kid is:

Options:
| % 4.5 years
5 % O years

5 4 years

4 % 3.5 years

Question Number : 67 Question Id : 627289567 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

a§ 2000 # Frarfea ve gwafa # st amg 23 a¥ ofn 5 I¥ A, Al A 3 T= & @y e
g 20 I off| FAAE A T2 Fr Y T

Options:

, » 4539
- B 5 El'é’
3 v 439

4 % 3599
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Question Number : 68 Question Id : 627289568 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A person deposits T 12,000 each at 20% per annum in two banks for one year, with compound interest calculated per
annum and other for compound interest calculated semi-annually. The difference in their interest is:

Options:
{ % T110
> % %115

2 % T150

4« T120

Question Number : 68 Question Id : 627289568 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T =g 2 12,000 Fr gF0Rr 20% H F¥F e W e dol H UF a9 F T FH AT £l TF dF H
T Fifve a T TS 8 ¢ HR g # s srdefe Rk W gaifeT g g1 39 e F
T

Options:

L % T 110
, % T 115
2 % % 150

L 7120

Question Number : 69 Question Id : 627289569 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If 15% of X is equal to 8% of Y, then 20% of X is equal to % of Y (round to one decimal)
Options:

1 ® 10.6

> % 10.8

5 o 107

4 % 10.5

Question Number : 69 Question Id : 627289569 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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TFREXFT15% Y F 8% Faual g, ar X #F20% Y & % % A §
(SAHAT F TF T dmiﬂﬁﬁﬁmgmll

Options:

. % 106

. % 10.8
2 v 10.7

. % 105

Question Number : 70 Question Id : 627289570 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The number of real roots of the equation x* + |[x| —4 =0 is:

Options:
1 & 4

o o 2
3_%[}

4 % 1

Question Number : 70 Question Id : 627289570 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FHEIOT x° + |x| — 4 = 0 & FEafas Har @ T 2

Options:

1.%4

> 2
z % 0

4 % 1

Question Number : 71 Question Id : 627289571 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A and B work in the same company. Salaries of A and B are in the ratio 4:7. A’s salary is increased by 50% whereas B's
salary is reduced by 25%. Now their salary is the ratio of 8 : 7. Then A’s salary is:

Options:
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. % 15,000
% 25,000
% 35,000

4 + Data not sufficient

Question Number : 71 Question Id : 627289571 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A 3T B U% & FI H FF I 21 A 3R B F I 1 AT 4 ¢ 7 g1 I A F I H 50% H
gfe & S ¢ 3 B F I H 25% FHr F Y A §) I 39 57F ATA F FTAA 8 1 T § A A
T ad g

Options:

. % T 15,000

, » ¥ 25,000

. » ¥ 35,000

. v His TACT 7L gl

Question Number : 72 Question Id : 627289572 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Pankaj takes 9 hours 55 minutes in walking a distance and riding back to same place where he started. He could walk
both ways in 12 hours 30 minutes. Time taken to ride back both ways is:

Options:
1 % 7 hours 25 minutes

> « 7 hours 20 minutes
=z % 7 hours 10 minutes

4 % 7 hours 30 minutes

Question Number : 72 Question Id : 627289572 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T TH GO HI Ued aF H AN AEa § A9H YR TS W A H FA 9 "¢ 55 Fae w1 a7
o &1 FE 2 3R F TET Yo 12 9 30 AT F ¥ W THAT &1 e 3R aEA ¥ g 9 A A
T aTeT AT &

Options:
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, % 7 U< 25 AT

s 7 9¢ 20 A=e

P2
o

- x 7 9 10 fAee

4 % 7 9T 30 fAee

Question Number : 73 Question Id : 627289573 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A shop owner sells his goods such that the cost price is 20% of the selling price. The profit percentage is:
Options:

1 % 450%

- % 350%

5 « 400%

4 % 375%

Question Number : 73 Question Id : 627289573 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

U ZHFEER AT TEIIHT FT SH THR F94T ¢ F FT Ho7 0FT 7Eg F 20% v g1 #msT giaea

Options:

| % 450%
> % 350%
3 « 400%

. = 375%

Question Number : 74 Question Id : 627289574 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In what ratio must water be mixed with milk costing ¥ 15 per litre to obtain a mixture worth ¥ 9 per litre?

Options:
1 % 1:2
> o203
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=8 SiZ

Vg B8

Question Number : 74 Question Id : 627289574 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

X 15 9f3 &Y a1 g & 9 5w et A femar s =g & greg B #1 g7
X 9 9fe #eT g7

Options:

; % 2
aonhid & 3
2 % 3:2
g% 21

Question Number : 75 Question Id : 627289575 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is a single discount equivalent to the discount series of 14% and 11%?

Options:
1 ® 24.5%

> % 23.44%
s « 23.46%

4 % 26%

Question Number : 75 Question Id : 627289575 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

14% 3R 11% # ge g@ensit & T & g/ged ge Fr e

Options:

| % 245%

o % 23.44%
5 @ 23.46%

L # 26%
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Question Number : 76 Question Id : 627289576 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A block of marble is suspended in air by a spring balance. The reading of the balance is 1.00 kg. When the piece is
submerged in water, the scale reads 0.60 kg. The density of marble is:

Options:
| % 14x10°kgm™

s el
o o 2.53%x10" kgm -

- % 32x10° kgm™

, % 3.6x10°kgm>

Question Number : 76 Question Id : 627289576 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AR 1 U TSl g1 A FHGER ol § FH gHT &1 ol 1 wrgais 1.00 w31 519 78 797
Il F gETS S, A gon & aediE 0.60 fE e ¥ wEeR & awed &

Options:

L % 1.4 X 10° fmRr @
o« 2.5 x 10° faFamr /@
. % 3.2 X 10° foram #°

. x 3.6 X 10° fomam #~

Question Number : 77 Question Id : 627289577 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An object is thrown vertically upwards with a velocity of 40 m/s. The total distance travelled by it in five seconds is:
(take g =10 m-fslj
Options:

1 % 75m

> % 80m
z o 85m
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4 % 90m

Question Number : 77 Question Id : 627289577 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T IEG 40 FE F I F AW T F FHR AT FHr A | =S TS A 3HS A a9 A
g 2et (g =10 )
Options:

Question Number : 78 Question Id : 627289578 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An object is placed along the principal axis of a convex lens at a distance more than its focal length and less than twice
of its focal length. The image formed by the lens is:

Options:
1 % Real and of the same size

-  Real and enlarged

% % Virtual and diminished

, » Virtual and enlarged

Question Number : 78 Question Id : 627289578 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

U& FFG F 3cad o % HET HET T IR Biehel oFATs H AUH g0 W A FHAN Hiehel TS &
AR | ®A gl 9 T@T AT §| oW gERT AT AT giafee gem
Options:

| » FEAIEE HR TAS JER F

zuf’mﬁ?ﬁﬁﬁﬂﬁﬁ
. w T 3R EfET
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Question Number : 79 Question Id : 627289579 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A ray of light passes from air into a slab of glass. As it passes from air to glass, its:
Options:
. = Frequency decreases and speed increases

> % Frequency increases and speed decreases

- » Frequency remains the same but speed increases

4  Frequency remains the same but speed decreases

Question Number : 79 Question Id : 627289579 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FerreT T T 0T g FH F FT & U Foid A H IRl ¢l @ IE g H F A H FaAA
FIAT § A ST

Options:

| x HEfeT T R AT e §

. w Fefed SE 3R AT Ted 7

. » Hgfcd WA el ¢ oIfehet ofd ST &

, » FEfca T @ g A fey wedr §

Question Number : 80 Question Id : 627289580 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An object is placed 30 cm in front of a convex mirror of focal length 20 cm. Following Cartesian sign convention. the
image distance v, and the magnification m. are expressed respectively as:

Options:
1 % 12.0 cm, —0.4

>  12.0cm, 0.4

2 R 60 cm. —2.0
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4 R 60 cm. 2

Question Number : 80 Question Id : 627289580 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T TEG 20 T BIFA FTEEE F Th Scad 90T F A 30 T A g W @ @ ¥ e
Fdw e Fha #, Sfafes &7 gl v 3R J=UT m FAW §H THR gAT AT
Options:

% 12.0 5, 0.4
- » 12.0 T, 0.4
. » 60 AT, -2.0

, % 60 &/, 2

Question Number : 81 Question Id : 627289581 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following elements outermost shell’s electronic configuration is similar to that of nitrogen?
Options:
, « FPhosphorous

- % Sulphur

- % Oxygen

4 % Chlorine

Question Number : 81 Question Id : 627289581 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fraf@T acar 7 ¥ 8 TEaad 1 7 Soadla® §edrq ASalad & FAH g1 g7

Options:

| v BIEHRT

g_ﬁm
5 % HTETS

4_363'%‘1-&?
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Question Number : 82 Question Id : 627289582 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is the IUPAC name of acetic acid?
Options:
, w Propanoic acid

- « Ethanoic acid
= % DButanoic acid

4 % Pentanoic acid

Question Number : 82 Question Id : 627289582 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TaReE e T FR.LALCH. AT = g2

Options:

Question Number : 83 Question Id : 627289583 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following represents the mass of one mole of ethanol molecules?
Options:

1w 46 grams

5 % .0 grams
5 % (.46 grams

4 % 0.046 grams

Question Number : 83 Question Id : 627289583 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ffof@a & @ #ia o1 FeeT s9=er 3t F v A F g T g g2
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Options:
| v 46 TATH

o B 46 arH
2 % 0.46 TTH

, % 0.046 TMH

Question Number : 84 Question Id : 627289584 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following metals is employed as a catalyst for the hydrogenation of 0ils?
Options:
1 % Aluminium

> % Magnesium

% % Sodium

4 + Nickel

Question Number : 84 Question Id : 627289584 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

el % ETEEISEIUT H eATaad # # @i @ O 3006 & ® H TgFd e 87

Options:

U TH AT

1 ® L

g_wﬂ??ﬁﬁ'ﬂﬂ'
3_$e¥ﬂ'1=5'11ﬂ

4 v T

Question Number : 85 Question Id : 627289585 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Alcohols in the presence of strong oxidising agents such as acidified potassium dichromate are oxidised to?
Options:
1 % Alkenes
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> % Amines

-  Carboxylic acids

4 % Amides

Question Number : 85 Question Id : 627289585 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

HFeTpd TATH SHHAC AW T HFASRS $I FTEATd H Tedhlgdl SHA Aardipd aid 8
Options:

1_&512_0@‘:1?{

5w JTHG
-  TIEIFAToR 3HFe

4 wx 3HASS

Question Number : 86 Question Id : 627289586 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is Uday Shankar most known for?
Options:
, » Revival of Indian ragas

> « Revival of Indian classical dance
- » Revival of the progressive artists movement

4 % Revival of Indian handicrafis

Question Number : 86 Question Id : 627289586 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

32T = FEs BT gew e gfae 22

Options:

a HAATT TEM & JA9ER & e
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|, ARAT ATEY g F AvEr & o
2 ¥ 2

i UeTTareie Fomehd HEeld & FEETAR = BT

" AT FEARIET Foll & AT & o

Question Number : 87 Question Id : 627289587 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Name the first major newspaper in India, which was started in 1780.
Options:
, » Bombay Herald

> % Madras Courier
z % Calcutta Gazette

4  Hicky’s Bengal Gazette

Question Number : 87 Question Id : 627289587 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

m?mmmwwmmaﬁ,mﬂsoﬁaﬁmmm[

Options:

| » AF gES
.y T IR

- % holehedl ITFIC

. v (&R FT T T

Question Number : 88 Question Id : 627289588 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A body of land surrounded on three sides by water is called:
Options:
1 #® Gulf

> « Peninsula
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z % Island

4 #® BE_:-F

Question Number : 88 Question Id : 627289588 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A X T I T O g3 R T T A FEardr 82

Options:
1 " aeth

2_{;91'&2'@??
5w oad

4.*‘3@_&

Question Number : 89 Question Id : 627289589 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In terms of Purchasing Power Parity (PPP), which is the country with the world's third-largest economy?

Options:
1 + India
> % USA

- % Japan

4 % Australia

Question Number : 89 Question Id : 627289589 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

HT g FHAT () & H@est A, g fr SEl mE w2 srdeuae R g fr 22

Options:
1. v #HId

R
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Question Number : 90 Question Id : 627289590 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is the minimum age for a person to be elected as a member of Panchayat in India?

Options:
1 *® 20

o 21
T W 19

4 #® 18

Question Number : 90 Question Id : 627289590 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

IRT H Ta0d & WeFT & T H fAar=d g & o0 #gaAas 3 F g7

Options:

1 ® 20
T B 19

4 #® 18

Question Number : 91 Question Id : 627289591 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A network of private computers infected with malicious software and controlled as a group without the knowledge of
users, called as:

Options:
1 # Malwarenet

> % Vironet
= « DBotnet

4 ® In-net

Question Number : 91 Question Id : 627289591 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ITARTHAIT & TAA & & ve B F°5e1 & Acas &I TF WAg & &9 F Afay Awea
genfag T AR AT Far F=2 Fgerar 82

Options:
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Question Number : 92 Question Id : 627289592 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘What is the name of the new operating system released by Google for android devices?
Options:

, % Symbian

- « Oreo

- » Meego

4 % Tizen

Question Number : 92 Question Id : 627289592 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TZITE 3901 & forT aerer garr S 6dr a1 7 s Rwed & a1 &= g2

Options:

l_wﬁﬁ'—‘ﬁ'&?
o o HIRTT
S_QW

4%?—!13??{

Question Number : 93 Question Id : 627289593 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For his excellence in which sport did Baichung Bhutia win the Arjuna award?

Options:
1 « Football
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o w Wrestling
3z % Cricket

4 % Boxing

Question Number : 93 Question Id : 627289593 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ST fear 7w Tor 7 3cFvedr & AT e WEwr Sar g2

Options:

Question Number : 94 Question Id : 627289594 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which Indian Scientist won the prestigious Dan David Prize, 20177

Options:
1 % Dr. A, Sivathanu Pillai
> « Shrinivas Kulkarni

5 % Suneet Singh Tuli

4 % Vijay P. Bhatkar

Question Number : 94 Question Id : 627289594 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

frw s Senfess 7 wfaffsa &7 3fas qree, 2017 Shar or?

Options:

=T tr.ﬁam?_—:rﬁﬁ»‘r

1 %
Srierarg Ferepoit
4 >
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4 % TS O sEET

Question Number : 95 Question Id : 627289595 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When was World Metrology Day observed this year?
Options:

, w Thursday. 20 April
> % luesday. 20 June

- % Sunday, 20 August

4  Saturday, 20 May

Question Number : 95 Question Id : 627289595 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

foeT Agiener fRew =@ av g e #amm om ar?

Options:

| x TEEICER, 20 3

, & TEER, 20 S

o % TeER, 20 30TEd

, v fEER, 20 7S

Question Number : 96 Question Id : 627289596 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If COCHIN is coded as 545738 and KASHMIR is coded as 2697130, then how would you code RANCHI?
Options:
1 % 068753

> % 086753
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5 « 068573

4 % 087563

Question Number : 96 Question Id : 627289596 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TfE COCHIN =r 545738 3T KASHMIR = 2697130 & T # &= &Far Far g, a7 319 RANCHI &r
T FIT FLE?
Options:

, % 068753
. % 086753
- v 068573

, % 087563

Question Number : 97 Question Id : 627289597 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Complete the anology.

BEGK: ADFJ: : GLPX : ?
Options:
« HMQY

1.
> % FOKW
s % FMOY

4 « FKOW

Question Number : 97 Question Id : 627289597 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TN HF T AL

BEGIK :ADF] ; : GLPX : 7
Options:

. = HMQY

., % FOKW
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- ® FMOY

., v FKOW

Question Number : 98 Question Id : 627289598 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the word that has a similar meaning to the words on either side of the brackets.

CUT () OPENING
Options:
1« slit

- % puncture

5 « sharp

4 % wound

Question Number : 98 Question Id : 627289598 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

3 M FT T FY TGFT AT FSSF & ] _F 6T 3T r=ar & 3T & AT 2T
CUT (__) OPENING

Options:

1 « slit

- % puncture
- % Sharp

4 % wound

Question Number : 99 Question Id : 627289599 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the set of letters that, when added as suffix to the letter/set of letters from the image, forms a meaningful English word.

THR
R

VO 5.2
D

N
L

Options:
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, % -eep
> % -ead
=z % -ide
4 « -lce

Question Number : 99 Question Id : 627289599 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

3R & 38 TAE (FH=IE) FT 99 H{ o8 B & eWEnR-gag F @Y 54T F T A A2 T W
Ts HAIUT 3RS A &

THR
i

Vo {..)
D

N
L

Options:
| % "€ep

- % -ead
= ® -ide

-ice

e
'3

Question Number : 100 Question Id : 627289600 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the number that would complete the below series:
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Question Number : 100 Question Id : 627289600 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

30 HEIT FT I9 &Y A A & T ST H qOT HL:

4. % 0
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